Owens Grip Strut 2011 - 14 Ford F150
All Cabs
IN639

NO DRILLING INTO VEHICLE IS REQUIRED!

Hardware included shown on right.

b ISR TV, SO

Sen W AG o ke 3
(e SRR - 8 6 Pcs Super/Crew
~ FL571 | = 4PcsStdCab

Tools required: !
N
8 5L e

-

1/2” socket

1/2” wrench

3/8” Nut driver on Dirill
Tape measure

1)

Measure from front wheel well back
Std Cab— 16” & 48”
Super Cab—17”, 33 1/2”, 64”

2) Super Crew Cab—17”, 477, 70”

Pull the tape that covers large hole in rear
of rocker panel. Slide a spring clip into hole
until it snaps into the other hole.

Owens Products Inc. ¢ 1107 Progress Street o Sturgis, Ml 49091 e 269-651-2300 e Toll-Free:800-726-9367 o
Fax: 269-651-9326 e www.owensproducts.com

Page 1



2011 - 14 Ford F150
All Cabs

Attach brackets to vehicle by inserting a
5/16” x 3/4” bolt into the spring clip
and 5/16” x 3/4” bolt and nut through
the pinch weld hole.

4)

Place the board on the brackets and align up on the vehicle. Attach
to the brackets using #14 X 3/4” long self drilling screws.

Owens Products Inc. e 1107 Progress Street o Sturgis, Ml 49091 e 269-651-2300 e Toll-Free:800-726-9367
Fax: 269-651-9326 « www.owensproducts.com

Page 2



